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QUESTION: 115
 
This is the Hex window for this question. At offset 39 there is the hex value of:
 

A.  4f 
B.  20 
C. 3a 
D. 4c 

Answer: D 

QUESTION: 116 
This is the Summary window for this question. Examine this capture closely.  Which statement is 
true? 

A.   This is an example of a poorly written application 
B.   Someone may have forgotten their password 
C. This is an example of a slow application 
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D. None of the above 

Answer: B 

QUESTION: 117 
The following statements are true about FTP: (Choose all that apply.) 

A. It is generally faster than TFTP 
B.   It uses TCP as the transport 
C. It handles authentication externally 
D. It is generally slower than TFTP 
E. It uses UDP as the transport 

Answer: A, B 

QUESTION: 118
 
An example of a streaming application is:
 

A.  HTTP 
B.  SSH 
C. VoIP 
D. DNS 

Answer: C 

QUESTION: 119 
Telnet is an example of: 

A.   a throughput-oriented application 
B.   a streaming application 
C. an encrypted application 
D. a transaction-oriented application 

Answer: D 
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B.   Simple but inefficient 
C. A more efficient version of FTP 
D. None of the above 

Answer: B 

QUESTION: 120
 
TFTP is an example of an application protocol that is:
 

A.   Simple but efficient 
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